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y" + 3y’ — 4y = 10€”

y' Ay =8e ¥ +42? + 2, y(0) =2, y'(0)=2
vy — (1432 HYy=a+2, y(l)=e—1
drsin = 2r cos 0df, r(w/4) = -2

(2cosy +4z?) dx = xsiny dy

y" + 25y = b5z, y(0) =5,y'(0) = —4.8
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(22° — 2y* — 2y + 3) do — (2y + 22) dy = 0
000000000000 y(1)=-100000000000001<:<400000
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yde 4+ 3z —a2y+2)dy =0
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ye4+y+)de +a(x+3y+2)dy=0
y" —y =4e”" + 327, y(0)=0, ¢'(0)=-1, ¢"(0)=2

v+ 3y + 2y = s

Br(zy —2) + (¥ + 2y)y' =0 y(1)= -1

y+@Br—ay+2)y =0
000000000000000000000000000000000

Y = e + 6—21’
Yy, = 621’ —F
ys = cosh?2z
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22y’ +ay —y =42, y(0.5) = 14y/e, y'(0.5) = =30/
yV —5y" + 4y = 20cosx, y(0) =1, ¥'(0) = —6, y"(0) =56
Y+ 2y + 2y =2e“sec’z, y(0) =0, ¥'(0)=0
y' =4y +Ay =6+ /x, y(1)=0, y(1)=¢e* -3
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2y’ + 2y —y =26, y(0.8) =0, y'(0.8) = =75

v'+ 2y +y=4e“Inz, y(1)=0, y(1)=—e"



